EARAROBEEIERT — 2 N— IBISH —F

201311270 (k) 14EIX#H4H

(1R S

‘ [R1%] & ‘ [REBE] — | & (&) 14000 RR

[A&4£] 1 7% :2,100,000 2 7 :630,000 @ 337 :420,000  ~ 4 3#&:252,000 @ 5 7 :168,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. RS : -1- — EIE=ER (KFH)
HXIANA O— it 4 b 1.(2_7).8 4-1-1 38.2 4 <5+012) ?@Ea;—
L:xrindaO— B:YALLRFF— [iAiE e ]
— s EHEC :27. == . — WiERE (KH)
STI—1)—L 4 54.05 }721:? 1-1-1 38.2 2 (4_518) /JA\W:’?%
L2y T bt —F7—K-FK B:OT LT r— W7 7 — L
B4 | EEAEIE 1:28.0 6-6-6 |38.0| — 1 474 | =IRERHE (ViA)
AhFFtF 54.0 (1 1/4) (0) (%) FHIZE
R:7TVFvEx BiEHFRE— E=H Ek
BHEAH : -3~ — SATR (KH)
SREF 2= 3 B (11.218/.42) 2-3-3 | 38.4 1 g; il
RZ:d—IWK7J2—)b B:I>ANEL DIXBRLT7—L
S = BN :28. 8- . — FRAR—5R (KFF)
XA —3I=ZX&— o4 2 1(728t§3 9-8-8 | 38.1 9 go) aa
RiYZXE—3IZ28— BTRYIRATIAR BE &
o o 5B :28. 12—~ . - TEHE (/E)
49 8%5— R 4 6 N0 1(218)5 12-12-12 | 37.9 8 (4+638) Jlﬁ%%%
R:TS5y08%S—F BiAI/ by To4> bus A=
a N . RS . 10— _ Iem =R (K3H)
LFEF1—"5+ 650 Gy | 10 %82 ! 1420) o
LiANRINGR B:OrILiF wH B
= 2 4 | RHZER 1:28.5 3-5-3 |38.7| — 5 469 | tEAKBL (KH)
TIVT 4 “ %50 G Cay | (B) 2= RETHB
R:T7Rv14Y¥<vy 72 B:TL>T4F I1— NETHIS
RS EFEREA :28. —8- . — RMR (KFH)
TYLJ o4 =5 1 (218)7 5-8-9 |38.5 3 :1:513; e
L:772UL17 B:X7V—-%— (B) HBEa-KL—-—ra>aEI77
S 5 4t 3 | AERE 1:28.9 6-3-5 |39.1| — 14 | 416 | ER2EE (K¥#)
108|13| 7V F2977 54.0 (1178 Lo |HEXE
R:xAxITT B:IINIL L 1=
5, 4 o4 | BEY 1:29.1 8-7-7 |39.0| — 6 502 | SAEEEE (KH)
110111 745 56.0 (3/4) +2) ‘}%%i’t
AR w4 —=T BTNy Ta () HEI-RL—-2a>AET 7
=D 4 o4 | BEFA 1:29.2 12-11-11 [ 38.8| — 10 | 481 |#AK—K (k3#)
12|57 | 733>~ 56.0 (172) (Cyy | AT
R:T7HIHTFLIL BiAL1ITUR e B
N WHAfEX : -13- — BEEEE (KH)
131814 FrRFLUL— it 3 e 1.(3:)).0 14-13-13 | 39.0 12 :1_326) L
L:7L>FFE2T7+ B:7A-HXr N HET77— L4
w i 4 | EHER 1:31.5 10-13-14 | 40.4 | — 13 | 477 | BEMA (KFH)
] 6l rrv—on—t o) 2 oy | RERH
R:ALTrAT B:YZTILHLR FhHh)Tr—1h
® 1—F—@EBIERL
13—7-—
230—7F— |[12,11,3,5,4,(9,13),1,2,6,8,(7,10) ,14
== (5,12),(11,13),3,9,1,(2,4) ,8,7,10, (6,14)
43—F— (5,12),(3,11),13,9,1,2,4,8,7,10,14,6
[ N5
B OB 5 700M 714K 5-12 480M e E 4-7 1,270M JEE 5-9-12 1,240
B B 5 190M4 5-9 380M e B 4-7 2,540H 3EE 5-12-9 9,020
12 140 9-12 280M B & 5-12 1,250
9 1309 B H 5-12 2,920M

ABICOVWTRDTEEERROODE. TR LIV,




